
SAP ABAP table PIQ_GB_UCAS_DEC01 {UCAS: Help structure 1 decision transaction}

PIQ_GB_UCAS_DEC01

ST_PLVAR [CHAR (2)]

ST_OTYPE [CHAR (2)]

ST_ANRED [CHAR (1)]

ST_ADAREA [CHAR (4)]

CHOICE_NO [NUMC (2)]

IT_TRANSACTION [CHAR (2)]

IT_DECISION [CHAR (1)]

IT_DECISION_OLD [CHAR (1)]

IT_REPLY [CHAR (1)]

IT_ENTRY_POINT [CHAR (1)]

IT_REASON [CHAR (2)]

O_CAMPUS [CHAR (1)]

T522G

MANDT [CLNT (3)]

ANRED [CHAR (1)]

 PIQ_GB_UCAS_DEC01-ST_ANRED = T522G-ANRED 

0..N

1

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 PIQ_GB_UCAS_DEC01-ST_OTYPE = T778O-OTYPE 

0..N

1

T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 PIQ_GB_UCAS_DEC01-ST_PLVAR = T778P-PLVAR 

0..N

1

T7PIQCHOICES

MANDT [CLNT (3)]

CHOICE_NO [NUMC (2)]

 PIQ_GB_UCAS_DEC01-CHOICE_NO = T7PIQCHOICES-CHOICE_NO 
0..N

1

T7PIQORIGIN

MANDT [CLNT (3)]

ORIGIN [CHAR (4)]

 PIQ_GB_UCAS_DEC01-ST_ADAREA = T7PIQORIGIN-ORIGIN 
0..N

1

T7PIQ_GB_ABBR

MANDT [CLNT (3)]

ABBREV [CHAR (2)]

 PIQ_GB_UCAS_DEC01-IT_REASON = T7PIQ_GB_ABBR-ABBREV 
0..N

1

T7PIQ_GB_CAMPUSM

MANDT [CLNT (3)]

CAMPUS [CHAR (1)]

 PIQ_GB_UCAS_DEC01-O_CAMPUS = T7PIQ_GB_CAMPUSM-CAMPUS 

0..N

1

T7PIQ_GB_DECIS

DECISION [CHAR (1)]

 PIQ_GB_UCAS_DEC01-IT_DECISION = T7PIQ_GB_DECIS-DECISION 

0..N

0..N

 PIQ_GB_UCAS_DEC01-IT_DECISION_OLD = T7PIQ_GB_DECIS-DECISION 

0..N

0..N

T7PIQ_GB_ENT_PN

MANDT [CLNT (3)]

POINT_OF_ENTRY [CHAR (1)]

 PIQ_GB_UCAS_DEC01-IT_ENTRY_POINT = T7PIQ_GB_ENT_PN-POINT_OF_ENTRY 

0..N

1

T7PIQ_GB_REPLY

REPLY [CHAR (1)]

 PIQ_GB_UCAS_DEC01-IT_REPLY = T7PIQ_GB_REPLY-REPLY 

0..N

0..N

T7PIQ_GB_TRANS

UCAS_TRANSACTION [CHAR (2)]

 PIQ_GB_UCAS_DEC01-IT_TRANSACTION = T7PIQ_GB_TRANS-UCAS_TRANSACTION 

0..N

0..N


